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Recall :
(DiVQ.n 'Hno_ éio?‘nQn’rine Qquo_'}ion
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o “ x o pet M o fla
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dscqlm)

OK ®) has onpg\'a'on> c=> 4 Jdiy b
l'% i has éoQAﬁ i onsS it has
) in é» ‘m.‘+2% (\MQnJ i “‘QSQr' .SQ*Q-«J-;‘o,,j
b)) o SsHKed tions in  Za,

2023-05-17 16:57:53 3/14 Lesson22 (3/14)




in

Sofe 290 X S
352

I) Cencel § 5% x ?_35; )
Z) ASdociated Cinear 6:oeho.n+“n& 27u°-+'°n.'

58 x 35]—3 =

3) Compute (5% 233)
(,\,)cns Ewclidean Q.ngn’r\:\m

35 = 58x¢ rq
58 = 9x 6+
9 = (G =~ 2 + 4
= 1=6¢ + 0O

&) (s5¢,351)=1 i v 4
Se if\&ini‘\'e_Qé meny So L bions a2
d=1 s ti0n ip ?_35?
5) \:)Xu'\;s inao.sasca :?f near
1 T-4%2
4 = 9- (58 -9x¢)x2Z = 9 x013) +358(-2)
{ = (BSQ—S‘KxG)xus +S8(-2) = 35713 +5¢(-§0)
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s) Keep x gact @ x =-80

6) |n+Q<gQr 50Q;4_+|'ons "H'° 38 Y = 1
353
SH L ! ~#0+ 353 n nea
Solution ta o ~-g0+35}3 =/272%

351
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Calculate d = (102,1001).
1001 =9x102+4 83

102 =1x83+419

83 =4 x19+7

19 =2x7-+5

7 =1x5+4+2

5 =2x2+41

2 =2x1+0
d=1

1 d(\/ lo SO fﬂ}; Yll"]‘QQ meng
&aQu.“(‘foJ\s in %. 1 se "I«'ongrh
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o2 x' = O mod Do
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loZ X, - 19 = ool K
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=>
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=D

X\ 9, s < 50&«41'0(, Q-g

loZ %X ~« [0013::\0
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/([02) oot )

Z) Write 1 as a linear combination of 102 and
1001

F\’O’W’ guce"l&‘lﬂ QPSQ ﬁ"H./\M/ bo HO/I«-—,
‘|'O -‘-o?
1=5-2x2

1=5-2x(7T—-5)=-2x7+3x5
1=-2x74+3%x(19—-2%x7)=3x19-8x7
1=3x19-8x(83—-4x19) =35x19—-8x83
1 =-8x83435%x(102—-83) =33x102—-43x83
1=35x%x102—-43 x (1001 —9x 102) =

= —43 x 1001 + 422 x 102

10
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Tharedore s 102x422 + 1901 (- 63) <]

Mu k4 e(’z bolh sdes .bg 40

102 % 422°10  * ioo1 -(-G3°i0)‘ = |0

¥ 3
Therefore  o0ae  Rrticufer Sofution
= 102 ¥ -\-\oona:\o is

X, = 4220 , Y, 4390

ALY sofutions are Qivn b
AR = L0 + 100} , b:-QBO- 1o
1

K € &

Back 1o 02 = 10 avod l00]  sof
in £ are | 4220+ lool k_ ked)
'n 2“0, 0"93 one .;EJ!M

4220 - Go0q = |2i6 \
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Find o M"“QS«:; A S

6
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6=-1 mod 2
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both sides ?
Coan T omulh 9?3 bolh  sides bé

h‘?

-X=2-2 mod 3
AZE 2 mmeod ?

3) X = 2+T K K€
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Th wax=_) aad
(2) Q%aC = b+ C

haw +the Sqeme scer._’,'s‘o.n.s
Ptoog : 80??9)1 X= %X, s

@ Solution 4o cn i 4
Q¥ £ m b ; CQC"Qian C=C So

~
QX +C = b=c So X\, s
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